
Whats in the Gift D' ( )
What number is in each gift?

3 × 8 = 9 × 2 = 6 × 6 =

4 × 8 = 3 × 8 = 2 × 2 =

6 × 10 = 3 × 3 = 9 × 3 =

6 × 5 = 2 × 7 = 6 × 10 =

5 × 4 = 2 × 9 = 4 × 3 =

10 × = 100 5 × = 25 6 × = 24

9 × = 63 2 × = 14 7 × = 49

5 × = 20 3 × = 27 4 × = 8

7 × = 28 3 × = 6 10 × = 20

9 × = 18 3 × = 24 6 × = 60

× 10 = 30 × 5 = 40 × 10 = 50

× 3 = 6 × 2 = 18 × 3 = 12

× 6 = 18 × 10 = 20 × 9 = 27

× 10 = 60 × 6 = 42 × 8 = 16

× 10 = 70 × 3 = 12 × 8 = 80

Merry Christmas from Math-Drills.com!


